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Aufgabe 1

Dividiere schriftlich. Fülle die Lücken.

a)

6 4 4 8 : 6 2 = 1 0 4

1·62=62

0·62=0

2

2 4 8 4·62=248

b)

7 1 5 5 : 5 3 = 1 3 5

5 3 1·53=53

1

1 5 3·53=159

6

6 5·53=265

0

c)

7 4 2 0 : 7 0 = 1 0 6

1·70=70

0 0·70=0

4

2 0 6·70=420

d)

6 5 0 0 : 2 0 = 3 2 5

3·20=60

0 2·20=40

1 0

1 0 5·20=100

Aufgabe 2

Dividiere schriftlich. Fülle die Lücken.

a)

8 3 5 : 7 4 =

7 4

9

7 4

2 1

b)

5 7 3 : 1 5 =

4 5

1 2 3

1 2 0

3

c)

7 3 6 : 9 6 =

6 7 2

6 4
d)

9 5 0 : 4 3 =

8 6

9 0

8 6

4
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Aufgabe 3

Dividiere schriftlich. Fülle die Lücken.

a)

2 0 2 : 4 4 =

4·44=176
b)

1 8 2 : 7 2 =

2·72=144

c)

2 5 5 : 8 8 =

2·88=176
d)

8 2 5 : 2 5 =

3·25=75

3·25=75

Aufgabe 4

Dividiere schriftlich. Fülle die Lücken.

a)

7 2 0 0 : 7 2 = 1

2 1·72=72

0

0·72=0

0·72=0

0

b)

2 9 4 8 : 6 7 = 4 4

8 4·67=268

2

2 6 4·67=268

c)

6 7 8 0 : 8 1 =

4 8·81=648

3 0

2 3·81=243
d)

9 5 8 2 : 5 8 = 1 5

5 1·58=58

3 7

4 8 6·58=348

5·58=290

Viel Erfolg!
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